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1. Answer the following questions:
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urved arrows show how each of the following could be generated and give the
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3. Consider the following acid base reaction: @

CH,CH,0™ + NH; = CH,CH,0H + NH-

a) Give the products of the reaction and identify the acid, base, conjugate

comjugate base
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4. Identify the following as chiral or achiral, if chiral specify the number of stereogenic
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5. Identify the relationship in cach of the following pairs. Do the drawmgs represent:
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Bonus question (5pts)

How many stereoisomers are there of D-fructose (including D-fructose), shown below?
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